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(c)Tempo para dissolução total
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numéricos

ácido benzóico sólido em água; R = 1 cm                                                    

DAB = 10-5 cm2/s; S ~ 1 g/cm3;   ~ 1 g/cm3

solubilidade = 2,5 g/l = 0,0025 g/cm3 →   AS = 0,0025

h5000s10.2
0025,0.10.1.2

1.1
t 7

5
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−

iodo sólido em ar; R = 1 cm                                                    

DAB = 10-1 cm2/s; S ~ 1 g/cm3;   ~ 0,001 g/cm3

pV
I2 = 0,5 mmHg  ; xAS = 6,6.10-4 →   AS = 5,7.10-3

h300s10
10.7,5.10.10.2
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(d) Transiente

no fluido,            

não no sólido
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combinando
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Error Function

Para x << 1

Derivadas
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